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numerical solutions in terms of the single parameter A.
For A=-0.20 they calculate vp=3.9, I'=0.6, and
ag0=2.0; J. W. Moffat and B. H. Bransden (private
communication).
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ERRATA

EVIDENCE FOR A 7-m RESONANCE IN THE /=1,
J=1STATE. A.R. Erwin, R. March, W. D.
Walker, and E. West [Phys. Rev. Letters 6, 628

(1961)).

Footnote 3 should contain an additional refer-
ence to G. F. Chew and S. Mandelstam, Phys.
Rev. 119, 467 (1960). At the end of the text,
there should be an additional footnote: 2It is
possible that the effects of large S-wave 7-7
scattering have been observed by A. Abashian,
N. E. Booth, and K. M. Crowe, Phys. Rev. Let-

ters 5, 258 (1960).

PROTON-PROTON INTERACTION. H. Feshbach,
E. Lomon, and A. Tubis [Phys. Rev. Letters 6,

635 (1961)].

The last two terms in the square bracket of Eq.

(1) for V,(») should be

=01 62R, (ur) - S pRs(u7),

instead of the same terms with positive signs.
The first two terms in the first square bracket
of the expression for R,(x) just below Eq. (1)

should read:

(12 23

= +F>K1(2x) instead of %2% +%§’-K1(2x).

The first line of p. 636 should have & =0 instead
of £=1, and the second line should have £=1 in-

stead of £=0.
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